Equal 9 step grey scaling betweebh* g;n=—40.0 andL*,,=40.0, Ygref=1.8, normalisation whiteW

L*0anF=39.9,L*02=0.0, L*0awF40.0, Yoan=3.6. Yoa=18.0, Yoauw=90.0, Coay=Yoaw: Yoan=25.0
L*tan=—30.3,L*tay=1.9, L*tan~40.0, Ytan=5.3, Yay=19.4, Y1an=90.0,Gray=Ytaw: Ytan=17.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 AL* min] / [AL* max], L* TusinD1 = 40 / Iog(5) [log (Y/Yy) ] with Y, =18

g*%= 100, g’y= 100 9%=76, %= 7 g%= 98, g%5= 94
L*TuBanD1 intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) V1121 *a Al*la
50+ ;
(D)9 400 10 900 10} 400 1.0 900 1.0 40.0
3 9.7 8.8
8 300 0875 602 0655 302 0.861 60.8  0.875 31.2
251+ ' 9.6 8.8
7 200 075 402 0424 206 0.724 412 075 22.4
: 9.5 8.8
6 100 0.625 269 027 111 059 281 0624 135
: 9.2 8.8
o+@s5 00 05 180 0.167 1.9 0.458 19.4  0.498 47
: 8.9 8.8
@+ 99 0375 120 009 -6.9 0.332 136 0.373 -4.0
3 8.4 8.7
@3 -199 025 80 0051-154 0.212 9.6 0.25 -12.7
-25+ 1 7.8 8.6
@2 299 0125 54  0021-232 0.101 7.0 0.129 -21.3
: 7.1 9.0
@: 399 00 36 00:-303 00 53 0.0 -30.3
-50-+- :

. ? YoaitYe
*o = = i normalisation: Yigiw=Y M
AL*0=100  (=12,.8) taiw =Yoawy 2 SOl
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